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1) Assert- Dissent- [Analogy]

v 1)
Affirm- Object

2)
Reject- Disapprove

3)
Endorse- Ratify

4)
Acknowledge- Recognize

AT & S <7 Assert WA AR PT, THOIE @R 31, Q3 Dissent A AToRs 1, Sqeamd
PACO TP PAT| Q <THCSNGT 2R A0 WY 2P PAZ | ‘PO AT - Affirm - FoolE
TN 241, faR5® FCo1 71| Object - WIS 31, WSS BT, TERIPH P11 ' (5 R
Reject - IS5 1, 2SI I, WA 1| Disapprove - AOFTE T, ITRoeT AT,
OIC™E d1 11 'Y (0 W - Acknowledge - FPIK T, (d (@31, ATi TPT |
Recognize - TR o1, Bao #IR1 i | 'T' (0 W2 - endorse - WGeaMd 41 | Ratify
- OICAMd BT \3 (AT | \39((RA choice SR <19 (Sl RGP T AW T X1 (SIOR
X JPEE choice 'F' - I X (TIOR3 e I | SR FIT BB T |
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AT : T ST BT 2 BUA (@R ToR- AL I {0 ST {F T I, TR QT WA (PP
SR MG BTeTo I QIR TS WA ([(DIE ACGA D BTeTo I | O TN ARSI I
TR #ICTR AP IR BATONP 2O IS M | PO HTHER AP IR TP (-PT HTaCad
fce FR¢ aRY IR BT |

3) Choose the pair of words that expresses a relationship similar to that of
the given pair : Patron : support

1)
Spouse : Divorce

2)
Artist : imitation

v 3)
Counselor : Advice

4)
Restaurant : Customer

T : Patron (ﬁ%{"ﬂw) support (5¥d) ¢ 13 Counselor ( B91ET) advice
(BACPT) O |

4) Find out appropriate analogy- 'Vacillate- Hesitate:-

1)
Persevere- Waiver

2)
Impulsive- Deliberate

3)
Obstinate- Accommodating

v 4)
Irresolute- Indecisive

TN : Vacillate-(741s3 2ow): Hesitate (41 311) now marnigly for the (Irresolute-
Indecisive)

Irresolute-(W3RBS): Indecisive (TEIFT)



5) 'Good’ is to 'bad’ as 'white’ is to
1)
dark

2)
grey

v 3)
black

4)
ebony

4 : aft 8 a6 Analogy. QUTE Good ( ©IET ) - W RIS <= bad (4R19) - | 5%
(oFfdeR ' 'white' () - @3 ' black' (W) | OIS, black - 3 53|

6) If the second day of the month is a Monday, the eighteenth day of the
month is-

1)
Sunday

2)
Tuesday

v 3)
Wednesday

4)
Monday

4 : In the month 2nd day is Monday, then the 18 th day will be Wednesday.
You can count down it in such way : 2nd day - Monday , 3rd - Tuesday, 4th -
Wednesday, 5th - Thursday , 6th - Friday ,7th - Sat, 8th - Sun , 9th - Mon ,
10th - Tues, 11th - Wed, 12 th - Thurs, 13th - Fri, 14 th - sat 15th - Sun, 16th -
Mon , 17th - Tues, 18th - Wednesday.

7) TR ICF T Ja 75 \3 BT HIC 72 791G A0ONF 736 I SR AR FOF AR
FACET | WHR IOT (16 IO (1P AAT?
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25 371RE00 73 T I, 13 fod 7ol Wi ¥ T UL 13 7101 13 T B 31 B (16
7 Gd | OIS (F16 7 Td 3L AR 90T DS T |
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AT : (G ATPTOT AFFIR T ofF AAGTFRA T1 AT T TAP AT | (PRI DA
NS O AT (TR WA SBI9 TP @ 20T A1fd [ =07 a1 13 onfd 7=
(PRTCER DS @ SIAT TR A1 | OIRIGT AT (PR Te] SCoP$T SIdT 2BTR [KIES 28TR 9[1 @ <A
TR AP BT (AR A6 5T I | A (GRS GeAo A |
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IS TR W ATHIN | 7 3RS AR Mars | TR QK 18T 0 TSR, T1 507 Q310
T | SO FACGR FAILE 512 | TATHCP fg 15y A1 AR STALF XT3 7, TS |

10) Choose the pair of words that expresses a relationship similar to that of
the given pair : Heart : human

1)



Wall : Brick

2)
Hand : Child

3)
Kitchen : House

v 4)
Engine : Car

AT : Human (1) @ 551 Y heart (JRf1) 3. Car (5TRY) & 5161 A1C4 engine
(3fe)|

11) R4 S0 PTIOICE PO AP-

1)
AP (ZT (26 RICH AT

2)
FOFH G AR TGATS IO AP
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FOEIE A5 [RE @0t A

v 4)
SAPTTRY 7COT RICOJ 15T

1A : R TR RIS RIS W@ AR e O \3 70 70 o i 7icod Sy | 949
943 3719 72d IR 9T P 7fD 7o FI1GER 84T 0P I¥ W3R Reufet (i fashs g acea sy
0T T17 | OB KGR ST FTIGI FoBIE PN 7ib 7icox 71sT AP | -
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AT 2 S A 791 3K T FI6 FIT Vwe g Ve - 4 = ¢ TS S T Y T Vo
T JTIRRR T Ydne e > GO 9FIF |

13) Frightened : Scream:: Angry:

1)
Cry

2)
Shiver

v 3)
Shout

4)
Sneer

AT : 'Frighten’ ©fo, QMGRF0 QY IR0 2 | Scream WY & HRPR AT WG AT |
TR AT S (I R 2R-OMoam A1 O 5P [ 1 Angry S 1sfao | g q1snfao &
A AT P 2 Cry 1 Fod SRR IR 11 Shiver WA SO/ 1 S AW FR P19 | ACSH
STeRI TPy Wt ©F S 11 Shout W B ePR 31, BB $01 31| Sneer W Rt 71 1 Q
=il 3 anger - 3 R STATRET T | STOdTL 3P B shout T 5|

14) IGTCOI ST W1#iTd fatew sTiecs 3 T10ed | facee s|[BFo 141K O Weifd @1d
GomID 52T FARA?

v 1)
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AT : TGO ST STTRHCO ORBTE PP QPICAT SO 1T AT J1CS SR PR GC faRTom
T 3T R | IR MG T 5TR @ Ry TeAfIA13 TRIK ICIR G ST ©f (WP SIeA™T
P A | B IGATOI SR ST F4Y T T 2N QICAT 1 (O 0 a1 | TR PIRCEA STO\3
AP TAPOT SRIFG |

15) Break: Repair :: Wound:
1)
Heal

2)
Hurt

3)
Fix

v 4)
Plaster

AN : Break *™ibd O (S0 TI\G3TT, (o3 (P11 | Break T (o8 (5T Repair 300 IJ |
g 2ieg <G Wz Reapin , I QI QRS M3 AT |7 | oA18 o OB I Plaster 1
q

16) Tiger : Zoology :: Mars:
1)
Astrology

2)
Cryptology

v 3)
Astronomy

4)

Telescopy

AT : Tiger 1AW &1 Q10 A1 G3% Zoology 1 @Tiiimst e anndh srestfes Ry | cosfa
Mars 31 §5e1513 1 AP0 5137 a1 7% Astronomy T (IO RMIT 20T 512 - FFaREIP [Km |

17) 'Botany’ is to 'plants’ as '"Zoology is to :

1)



flowers

2)
trees

3)
dear

v 4)
animals

AT : Botany (Sfexm) Plants (Sfew) fact Seamsa 3 1 @1, Zoology (i )
animals 31 21 I TCATBAT F | B option () - 3 51
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v 4)
ST

AT : &% JMET . AJ5 I

19) AR TR T T2 TR WA SFF I N0 | A G5 TRET -

1) Y3 TOPICTY FAA
2) 330 ey Rl @y sa
v 3) SRR A 5TRed Jearrst med
)

4) CPTO 3 134 AP P T Y19 IR
II0T -

AR ST QP13 2MRAIRT | ZoPM, 84, CFTS 1 IFCR S WTEATDAT DR A9 IS TS
T | OB Q3 TFRK T Ty FLHEI ARG STOIK FAITST 20313 IFA |



20) 'Sky' is to 'bird' as 'water' is to
1)
feather

v 2)
fish

3)
boat

4)
lotus

AN : Bird @3 {637 6Fca sky @32 fish U< {639 6¥a water |

T : TFFE T EY IS I 271 Ans: ASSEMBLY

22) The fifth consonant from the beginning of this sentence is the letter-

4 : From the beginning of that sentence 1st letter is 'T' (consonant ), 2nd is
'h' (consonant), 3rd is 'e' (vowel), 4th is 'f' (consonant) 5th is 'i' (vowel), 6th is
'f' (consonant) and 7th is 't' (consonant). So the fifth consonant is 't'.



23) Distort- Twist [Analogy]

1
2
v 3
4

Straighten --- Bend
Deform --- Reform
Harmonize --- Balance
Observe --- Blur

~— N N S

T : QT FF ¥R (MG Distort O RPe F41 032 Twist WY @IHOIAT ,RPo 1 Aefo |
AR XT3 (GING] PRI AP DY AP A2 | 'F' (O AR - Straighten - G 3411 Bend
- IRl | "Y' (O WE - Deform - RPwaa9| Reform - JCMKE (51" (3 AZ - Harmonize -
AR ST BT, A1 AT3AT| Balance - 37T 3T, OIS ORE| 17| W' (9 IR -
Observe - SIRFI F1, T 1, SRAT9E 11 Blur - TRIT ,TFD, AP 7157 | \39ER
choice BETR FHT BYHTT 'sT' SRR X (SO A1 TP T AP T | WO S5
GG ST
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25) Find out appropriate analogy-
'Submission- Yielding'-
1)

Subjection- Liberation

2)
Restrain- Indulge

v 3)
Complaint- Acquiescent

4)

Restriction- Relaxation

AT : QAT FPTRH Submission WY AT WGsToY, FF0T, P01 AR yielding Y 1 79,
R | WA , @ - (O W subjection *RIFTST , X0, 74 307 | Liberation - &,



FGFOI, | 'Y - (O W7, Restrain - 784 3411 ,fa0gq 1, 041 27191 Indulge - 374 01T,
AROY FAT | 57" (3 @z, Compliant - IS, 57O | Acquiescent - 5N, IS, AT
I'T' (O W, Restriction - Ji4T, [a@y | Relaxation - 2PT&d , ¥ ,39 m%ﬂ QYT FT
(STGRI 57°91F T @ RF Yielding (79) O FI3 AT Submission (AF0T) | TGF 1 HGA
ST - (O (7T T2, T T Acquiescent g 67 - 3 compliant (590) | 5018 5 Swd
RN

26) In many ways, riding a bicycle is similar to -

v 1)
driving a car

2)
when one drives a car

3)
when we drive a car

4)
the driving of a car
AT :
riding a car APR driving a car X[ |

o 0T I AT @, AP BTN \3 MG BTETAR QFRF 1 | QR AP BTeTdl \3 SR b1t
A3 29IR OH phrasal 5194 \3 133 TJ

TR IR G TR *RIFT fd 11 [FiFRasT acey| \SERsis a @ fieo ot a=eds live.hellobcs.com
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